2014F7A1H~10A25BBEHS EEXR<HERIS >

= TR
WEH(7/1-7/3.9/1-10/25) | BIF|ED | E—HH#A(7/4-8/31) | EI5IEQ
AiE—5RE RAC 5,100 58% 5,100 60%
AKXRE—H#EFEH) [ JTA/RAC 5,100 58% 5,100 60%
S A E — i iE (ARER) RAC 13,300 59% 13,650 60%

JTA/RAC 2014/4/30

B5IEO:BEH [KALTBES XL
BSIRQ:E— VI KA L BEE XL



20145£7TA1B~10A25AEES EER</PMREEEE/EEISI> as of 2014/04/30

INREBEE EERSI
X

BEH(7/1—-17/3,9/1-10/25)| BI51FED |b-9#A(7/4-8/31)| BI5I1RQ | BEH (7/1—7/3,9/1-10/25)| BI5|FED [t'-9#A(7/4-8/31)| EIFI1EQ
AiE=53HEH RAC 4,150 66% 4,200 67% 7,400 39% 7,900 38%
S (ARER) = KK RAC 8,950 65% 8,950 65% 16,300 36% 16,300 36%
hiE (33ER) =4t K&K RAC 8,950 65% 8,950 65% 16,300 36% 16,300 36%
BmAE=JKE RAC 3,000 65% 3,000 65% 5,450 36% 5,450 36%
ELa=%EM RAC 3,100 64% 3,100 64% 5,600 36% 5,600 36%
8 (ARER) = 5 E RAC 11,450 65% 12,050 65% 19,550 40%| 20,450 41%

BB BEH KA BEEG I3ttt
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20145 7A1B~10A25B B FES BEEXR<HAIFEEREI(KA/DMR) >

FERIEEREISI(KA)

FERIEEEISI (MR)

X e
| BEIED | BE5I=RQ| wEE |BEIED BEI=Q
iE(RER) =mXE RAC 10,000 61% 61%| 5,100 80% 80%
P8 (ARER) =t KE RAC 10,000 61% 61%| 5,100 80% 80%
MAAR=1AK RAC 3,400 60% 60%| 1,800 79% 79%
EEEESEL RAC 3,500 60% 60%| 1,800 79% 79%

as of 2014/04/30
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